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Current Gain or Current Amplification: 

Current gain is defined as the ratio of the load current I1 to the input current Ib.  

Thus, Current Gain      

      …..(1) 

But from figure 2,  

        …..(2) 

Also          …..(3) 

Combining Equation (2) and (3) we get, 

 

Hence current gain       

       …..(4) 

Input Impedance Ri: 

This is the impedance between the input terminals B and E looking into the amplifier as 

shown in Figure 2 and is, therefore, given by, 

        ……(5) 

From figure 2  

      …..(6) 

But         …..(7) 

Substituting the value of Vc from Equation (7) into Equation (6) we get, 

       …..(8) 

Hence input impedance  

     …..(9) 

                       …..(10) 

Where  YL = 1/RL 



From Equation (10) we find that the input impedance Ri is also a function of load resistance 

RL. 

Voltage Gain or Voltage Amplification: 

It is the ratio of the output voltage Vc to the input voltage Vb.  

Thus, Voltage Gain  

       …..(11) 

Output Admittance Y0: 

It is the ratio of the output current Ic to the output voltage Vc with Vs = 0. Hence 

 with VS = 0       ……(12) 

On substituting the value of Ic from Equation (2) into Equation (12) we get, 

      …..(13) 

But with Vs = 0, Figure 2 gives (Rs + hie) Ib + hre Vc = 0 

Or       ……(14) 

Combining Equation (13) and (14) we get,  

       ……(15) 

Equation (15) shows that the output admittance Y0 is a function of source resistance Rs. It 

source impedance is purely resistive, then the output impedance Y0 is real i.e. purely 

conductive. 

Output impedance  

        …..(16) 

In the calculation of Y0, RL has been considered external to the amplifier. If we include RL in 

parallel with R0, we get the output terminal impedance Zt given by, 

        …..(17) 



Power Gain Ap: 

From the circuit of Figure 2, the average power delivered to the load imprudence RL is given 

by: 

          ……..(18) 

Where  is the phase angle between VC and IL.          ……(19) 

If load impedance is purely resistive, then cos  and Equation (19) reduce to: 

       …..(20) 

The input power at input port is,  

       …..(21) 

The power gain AP is the ratio of power PL delivered to the load to the input power at the 

input port. Thus, 

       …..(22) 

 

 

অ্যামপ্লিফাযারেে প্রকােরেদ: 
অপারেশন মুরেে ওপে ননর্ভে করে অযামনিফাযােরক নিনর্ন্ন শ্রেণীরে নির্ক্ত কো যায। যা ননরে েুরে ধো হরো। 

 

(ক) প্লিকুরযন্সি প্লিরেরে 

i. অনেও নিকুরযন্সি অযামনিফাযাে 

ii. নর্নেও নিকুরযন্সি অযামনিফাযাে 

iii. শ্রেনেও নিকুরযন্সি অযামনিফাযাে 

iv. ইন্টােনমনেরযট নিকুরযন্সি অযামনিফাযাে 

v.  ইউএইেএফ িা নর্এইেএফ অযামনিফাযাে 

vi. োযরেক্ট নিকুরযন্সি অযামনিফাযাে 

(খ) োযাপ্লেিং প্লিরেরে 

i. ক্লাস-এ অযামনিফাযাে 

ii. ক্লাস-নি অযামনিফাযাে 

iii. ক্লাস-নস অযামনিফাযাে 

iv. ক্লাস-এনি অযামনিফাযাে 

(গ) কাপপ্ল িং প্লিরেরে 

i. আেনস কাপে অযামনিফাযাে 

ii. এে নস কাপে অযামনিফাযাে 

iii. ট্রািফম ভাে কাপে অযামনিফাযাে 



iv. োইরেক্ট কাপে অযামনিফাযাে 

(ঘ) ল াড এে প্রকৃপ্লিে প্লেপ্লিরি 

i. আনটটউন্ড অযামনিফাযাে 

ii. টটউন্ড অযামনিফাযাে 

(ঙ ) ইনপুট প্লেগনযার ে ধেন প্লিরেরে  

i. স্মে নসগনযাে অযামনিফাযাে 

ii. োর্ভ নসগনযাে অযামনিফাযাে 

(চ) আউটপুট প্লিরেরে 

i. শ্রর্ারের্ অযামনিফাযাে 

ii. কারেন্ট অযামনিফাযাে 

iii. পাওযাে অযামনিফাযাে 

 

লোরেজ অ্যামপ্লিফাযাে: 

শ্রয অযামনিফাযারেে মাধযরম শ্রকান দুি ভে নসগনযারেে শ্রর্ারের্রক নিিেভন কো হয োরক শ্রর্ারের্ 

অযামনিফাযাে িরে এটট মূেে এক ধেরণে স্মে নসগনযাে অযামনিফাযাে। 

 

পাওযাে অ্যামপ্লিফাযাে: 

উচ্চ মারনে পাওযাে আম্প্নেনফরকশন এে র্নয শ্রয অযামনিফাযাে িযিহৃে হয োরক পাওযাে অযামনিফাযাে 

িরে। এই ধেরনে অযামনিফাযাে োর্ভ নসগনাে অযামনিফাযাে নহরসরিও পনেনেে। 

 

ক্লাে-এ অ্যামপ্লিফাযাে: 

শ্রয সকে অযামনিফাযাে, ইনপুরট প্রদত্ত পূণ ভ নসগনযারেে র্নযই আউটপুট প্রদান করে োরক ক্লাস-এ 

অযামনিফাযাে িরে। অর্ ভাৎ ইনপুরট প্রদত্ত নসগনযারেে অনিকে নসগনযাে নিিনধ ভে আকারে আউটপুরট পাওযা 

যায। এ অযামনিফাযাে গুরো এমনর্ারি িাযাস কো হয যারে ইনপুরটে শ্রকান অংশ িাদ না পরে। ক্লাস-এ 

অযামনিফাযারেে সরি ভাচ্চ দক্ষো শেকো ৫০ র্াগ। 

 

 

ক্লাে-প্লে অ্যামপ্লিফাযাে: 

শ্রয সকে অযামনিফাযাে ইনপুরট প্রদত্ত নসগনযারেে শ্রকিেমাত্র হাফ সাইরকে নিিনেভে করে োরদেরক  ক্লাস নি 

অযামনিফাযাে িরে। অর্ ভাৎ ইনপুট প্রদত্ত নসগনযারেে 180 নেগ্রীে র্নয আউটপুট নসগনযাে পাওযা যায। ক্লাস-

নি অযামনিফাযারেে দক্ষো শেকো ৫০ শ্রর্রক ৮০ র্াগ পয ভন্ত হরে পারে। 



 

ক্লাে-প্লে এমপ্লিফাযাে: 

এ অযামনিফাযারেে আউটপুট ইনপুরট প্রদত্ত নসগনযারেে 180° এে শ্রেরয কম সময ধরে পাওযা যায। এই 

অযামনিফাযাে নের্াইন কোে সময এমনর্ারি িাযাস কো হয যারে, ইনপুরট প্রদত্ত নসগনযারেে নকছু অংশ িাদ 

পরে। পাওযাে অযামনিনফরকশরনে র্নয এ ধেরনে  অযামনিফাযাে কখরনা িযিহাে হয না। েরি টটউন্ড 

অযামনিফাযাে সানকভট নহরসরি িযিহাে কো হয। 

 

ক্লাে-এপ্লে অ্যামপ্লিফাযাে: 

শ্রয অযামনিফাইযাে ইনপুরট প্রদত্ত নসগনযােরক ১৮০ নেগ্রী অরপক্ষা শ্রিনশ নকন্তু ৩৬০ নেগ্রী এে শ্রেরয কম সময 

অযামনিফাই করে োরক ক্লাস-এনি অযামনিফাইযাে িরে। ক্লাস-এনি অযামনিফাইযারেে ক্রস ওর্াে নেসটেশন 

কম হয। 

 

 


